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REASONING

1.-In a certain code language
CROWNED is written as
PSDVEFO. How will
STREAMS be written in the
same code?

(1) SITDBNT (2) TUSDTNB
(3) SUTFTNB (4) QSRDTNB
(5) None of these

The positions of how many al-
phabets will remain the same
il each of the alphabets in the
word DETRIMENT is rear-
ranged in the alphabetical or-
der from left to right?

(1) None (2) One

(3) Two (4) Three

(5) More than three

. Which of the following

come in the place of t q%—'
tion mark ?
ZXW USR PNM °?

H

(1) LJ1
(3) LKI
(5) MLJ

4. '3'is subtracted fgom each odd
digit and * dded to each
even di the number
49728 d all the numbers
thus are arranged in

order from left to

ri Which of the following
will be exactly in the

middle of the new number

thus formed ?

(15

(33

(5) 9

Four of the following five are

alike in a certain way and so

form a group. Which is the on

(2) 4
47

o

e
that does not belong to that
group ?

MODEL SOLVED PAPER

6. If all the letters of the word
PURCHASE are arranged in al-
phabetical order from left to
right and then ea: el in
the word is cha o the
next letter in the lish al-
phabetical se
consonant isecl
previous letterin the English
alphabetical gSeries, which of
the fol will be third from
the e

(2) B
(4) N

ol

7. &van correctly remembers
t last year Animesh's birth-

day was after 17th but before

@ 28th of May. Dhanush cor-
rectly remembers that last

year Animesh's birthday was
after 9th but before 19th of
May. On which of the follow-

8

.

(1) 29th (2) 16th

(3) 15th (4) 18th

(5) None of these

Manoj started from Ppinl’A
and walked 18 mrds
North. He then t con-
secutive left nﬂ@mkcﬂ
5 m after e turn. He
again toomm. walked

(4) 23 m

(5) Rot be determined
H, J, K and L, each
g different heights, K is

ler than L and H. J is not
e shortest. Who amongst
em is the tallest?

ing days was Animesh'’s birth-
day last year ? @ $ d

IBPS BANK CLERK ONLINE CWE

10. How many meaningful English
words can be formed with the
letters CFAE using each let-
ter only once in each word?
(1) None (2) One
(3) Two (4) Three
(5) More than three
Direetions (11-15) : Study

the following information carefully
and answer the given questions.
H. J, K, L, M and P are sitting
in a straight line (not neces-
sarily in the same order) fac-

eighbour of H.

J is not an immediate

neighbour of H or M. -
If all the persons are made to
sit in alphabetical order from
left to right, the positions of
how many will remain un-
changed as compared to the
original seating positions?

(1) None (2) One
(3) Two (4) Three
(5) Four
12. How many persons sit to the
right of H ?
(1) None (2) One
(3)' Two (4) Three
(5) Five
13. Four of the following five are

alike in a certain way based
on their seating positions in
the above arrangement and so
form a group. Which is the one
that does not belong to that

(1)J (2) K
(1) Silk (2) Nylon (8) H
(3) Jute - (4) Cotton (4) Cannot be determined
(5) Wool (5) None of these

group?
(1) PL (2) MP
(3)JP (4) KM
(5) MH
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14. Wﬁodsits at the extreme left hand corner of the line?
(20 H
(4) K

()L
3)J
(8) N?ne of these

16. What is the position of J with respect to M ?
(2) Second to the left
(4) Third to the left

(1) Third to the right
(3) Immediately to the right
(5) Second to the right

Directions (16-20) : In each question below is given a group of

letters followed by five combinations of number/symbol codes n
(1), (2), (3). (4) and (5). You have to find out which of the co
correctly represents the group of letters based on the follo
system and the conditions and mark the number of that ¢

your answer.

letter |F|D|H|U|[T|[K|A|C[WI|R[M B|P
Number / B

Symbol |% |6 |#|5|@|7|3|*x| B |8 ©®|9]|4
Code

Conditions : ns (21- 25) : Study

(i) If both the second and the
fourth elements are vowels,
both these are to be coded
as the code for the fourth
vowel.

codes for the first and
last letters are to b&

e

changed.
(iti) If first element i@'el
and the last 4 copsofant,

then that v 5 to be
coded as the“Gede for the
letter following it.
16. MFQBEK
(1) 7992 7%©92S
3)s (4) 790©29S
(5) 7%
17. HE F
(1 %7 (2) #202%7
( 37% (4) 72©3%7
(5) #30©2%7
18. UTDARM
(1) @@638@ (2) @@6S83
(3)s@638@ (4) @@638S
(5) $$638%
19. UDH
(1) 44%568  (2) #4%568
(3) #46%58  (4) #4x56#
(5) 84 x56#
20. AUWDBE
(1) 950992 (2) 255693
(3) 3596032 (4) 350629
(5) 35692

the fol
g

(ii) If the group of letters con
tains only one vowely u@;l.

22.

arrangement carefully
the questions given be-

UABDBCEDEDUAB
UACDEDADBCABC
EBAB
If all the Bs are dropped from
the above arrangement, which
of the following will be eighth
from the right end of the above
arrangement ? @
(MWE (2)U
(3)A (4) D
(5) None of these
How many such pair
phabets are there in
ries of alphabet
BOLD in the db
ment each
many letters be
both forwa

se-
n in

ange-

has as
them (in
backward
ey have be-
'he English al-

(300 ©
( than three
many meaningful words

23 ow
be formed with the alpha-
ts which are second, fifth,

and eighth from the left end
of the above arrangement?
(1) None (2) One

(3) Two (4) Three

(5) More than three

24. How many such vowels are
there in the above arrange-
ment each of which is imme-
diately followed by a vowel ?
(1) None (2) Three
(3) Four (4) Five
(5) More than five |

2B. Which of the following is the
seventh to the right of the
eighteenth from the right end

_ of the above-arrangement?
(1)Cc (2)U
3B @E
(5) A

Directions (26-30) : Follow-
ing questions are based on the five
three digit numbers given below :
591 462 318 675 924
If all the numbers are arranged
in descending order from left

26.

to right, w { the follow-
ing will difference be-
tween bers which are
secon the left and third
fro ght?
(1) (2) 462

129 (4) 357

4

he positions of the first and
he third digits of each of the’
numbers are interchanged,
how many even numbers will
be formed ?

(1) None (2) One
(3) Two (4) Three
(5) Four

If one is added to the third
digit of each of the numbers,
how many numbers thus
formed will be divisible by

three?

(1) None (2) One
(3) Two (4) Three
(5) Four

29. If all the digits in each of the
numbers are arranged in as-
cending order within the num-
ber, which of the following will
form the highest number in

the new arrangement of num-

bers?

(1) 591 (2) 462
(3) 318 (4) 875
(5) 924
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30. What will be the resultant if
the first digit of the lowest
number is multiplied with the
third digit of the second high-

est number?

(1) 15 (2) 27
(3) 20 (4) 56
(5) 24

Directions (31- 35) : In each
question below are three statements
followed by two conclusions num-
bered I and II. You have to take the
three given statements to be true
even if they seem to be at variance
from commonly known facts and
then decide which of the given con-
clusions logically follows from the
three statements disregarding com-
monly known facts.

Give answer (1) if only con-
clusion I follows.

Give answer (2) if only con-
clusion II follows.

Give answer (3) if eilher con-
clusion I or conclusion Il follows.

Give answer (4) if neither con-
clusion I nor conclusion II [ollows.

Give answer (5) if both co
clusion | and conclusion II follow.

D
>

31. Statements :

No post is a mail.
All mails are letters.
Some posts are
Conclusions :

1. Some oflices

€rs.

Conclusions :
I. No playground s a school.
II. Atleast scine colleges are
playgrounds.
Statements :
All metals are plastics.
All plastics are cloth.
All cloth are threads.
Conclusions :
I. All metals are threads.
I1. All plastics are t i
Directions (3 the
informatlon/slatemg ven in
each question ca:e‘b d answer
the questions.

36. In which of ollowing ex-
Pthe expression

'(él >G>H
QH>G>1<d

None of these

ich of the following expres-
sions will be true if the expres-
sion 'K >L >M > N' is defi-
nitely true ?

(I)N<K 20K=M

(3) K« N 4L=N

(5) None is true .

38. Which of the following exp es-
sions will be true if the S-
sion M>K<T=Q
nitely true ?

<

32. Mg <K (2) M >
BM<Q 4T
(5) None is tru@

39. Which of lhe expres-
slons may nol e if the
expression =W< X is

s definit
digits (nw 2)X>2
33. Statements : (3) Y <
Some cells are tissues.
4 1 and (3
All lissues are bones. 5556(1'?:1‘“& -
2:: bolm:iis a lfga.ment. 40. ch of the following ex-
neIasions s ssions does the expression
I. No ligament is a cell. % D' hold true?
II. Atleast some bones are () A=B<C<D
cells. =
34. Statements : @ D28 >0>A

Some schools are colleges.
No school is a nursery.
All nurseries are playgrounds.

(3 B=D>C>A
4A>C>B=D
(B)D<B>A>C

ENGLISH LANGUAGE

Directions (41-52) : Read the
following passage carefully and an-
swer the questions given below it.
Certain words are printed in bold
to help you to locate them while
answering some of the questions.

Long ago. the country of
Gandhara was ruled by a just and
good king Vidyadhara. His subjects

.| were very happy.. but as the king

grew older:; everyone grew more and
more worried because the king did
not have any children who could
take over the kingdom after him.
The king was an avid gardener. He
spent a lot of time tending to his
garden, planting the finest flowers,
fruit trees and vegetables. One day,
after he finished working in his gar-
den, he proclaime@ly,'l will distrib-
ute some seeds the children

the biggest,
become the prince

three mon
or the princess.'
The next day there was a long

ous parents and chil-

er to gel a seed and grow the
ant. Pingala, a poor farmer's
, was among the children. Like
king, he too was fond of gar-
ening and grew beautiful plants in
his backyard. He took the seed [rom
the king and planted it in a pot with
great care. Some weeks passed and
he plied it with water and manure,
but the plant did not appear. Pingala
tried changing the soil and trans-
ferred the seed to another pot, but
even by the end of three months,
nothing appeared.

At last the day came when all
the children had to go to the king
to show the plant they had grown.
They went walking to the palace
dressed in their best, holding beau-
tiful plants in their hands. Only
Pingala stood sadly, watching them
go by. Pingala's [ather had watched
his son working hard with
the seed and felt sorry for him. "Why
don't you go to the king with your
empty pot ?' he suggdested. ‘At least
he will know you tried your best.'
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So Pingala too wore his best
suit and joined the others outside
the palace, holding his empty pot
in his hand and ignoring the laugh-
ter around him. Soon the king ar-
rived and began his inspection. The
pots held flowers of different shades,
beautiful and healthy, but the king
did not look happy. At the end of
the queue stood Pingala, and when
the king reached him, he stopped
in surprise.

‘My son, why have you come
with an empty pot ? Could you not
grow anything ?' Pingala looked
down and said, ‘Forgive me, your
highness. 1 tried my best, 1 gave it
the best soil and manure I had, but
the plant would not grow.'

Now the king's face broke into
a smile. He enveloped Pingala in his
arms and announced, This boy truly
deserves to be crowned the prince! |
had given everyone roasted seeds,
which would never grow. | wanted
to see which child was the most
honest one, and would admit he or
she would not be able to grow any-

thing. Only this young boy told t
truth. I am sure he will rule t

kingdom one day with tr
honesty.'

And indeed that was
pened. When the king gie
died, Pingala, who h
thing [rom him, cam¢

and ruled Gandhara just¥ for many

years.

41. Why did the g distribute
seeds to children in his
kingdo

als of the kingdom.
( nted to see who could
w the tallest plant.

(3) He finished all his work in
the garden and had extra
sceds left.

(4) He wanted to inculcate the
hobby of gardening among
the children of his kingdormn,

(5) None of these

42. Why was Pingala holding
empty pot in his hands?

an
(A) He could not grow the seo&

the king gave him.
(B) His plant did not survive
alter the second month.

(C) He wanted to be different
from the other children.

(1) Only (A) (2) Only (B)

(3) Only (C) '

(4) Only (A) and (B)

(5) Only (A) and (C)

Why did Pingala's father en-

courage him to go to the king

with an empty pot?

{A) He wanted the king to know
that his son trie st
to grow the pl

to be

(B) He wanted
noticed by g.

(C) He wan e king to
realise th had cheated

his son.
(1) Onl (2) Only (B)

43.

of the following word is
opposite to the word Ad-
t printed in bold in the
bove story?
(1) Reject
(3) Dismiss
(5) Confess
45. Which of the following sen-
tence/s is true of Pingala’s fa-
ther ?
(A) He was a farmer by profgs
sion.
(B) He was very enco
towards his son.
(C) He was a poor rn
(1) Only (A)
(2) Only (B) and LQ
(3) Only (B) &

(4) Only (C)

(2) Deny
(4) Disclose

(5) All (A). ( (C)

46. The kin® ¢to d Pingala heir
to the @ m because ___
(1) he gardening.
(2)

was taken aback by his
i

was the only child to
have admitted the truth.
he had the most beautiful
and healthy plant.
(5) he was in awe of his up-
bringing.
47. What kind of seeds did the
king give to the children?

(A) The finest seeds he had.

(B) Roasted seeds that would
never sprout.

(C) Vegetable and fruit seeds.

(1) Only (A) (2) Only (B)

(3) Only (C)

(4) Only (A) and (C)

(5) None of these

Which of the following state-

ments is false according to the

passage?

(1) Pingala was fond of garden-
ing just like the king.

(2) The king did not have any
children who could take
over the kingdom.

(3) Pingala took great care of
the seed the king gave him.

(4) The seeds that the king gave
to the children grew into

beautil’ and healthy
“plants
(5) The en were given

ot signment.
49: Wh the king call for an
i ion of the plants after

“irisp
£ months ?
He wanted to sece which

% plant had the most beauti-
ful NMower. :
(2) He wanted to wilness the
joy on the children’s faces.
(3) He wanted to see which
plant would be the most
useful to him.
(4) He wanted to check the
children's gardening skills.
(B) He wanted to see which
child was honest and would
admit the truth.
Directions (50 -52) : Choose
the word which is most nearly the
SAME ifi meaning as the word
printed in bold as used in the pas-

sage.
50. Avid

(1) Bright  (2) Intelligent

(3) Enthusiastic

(4) Lazy (5) Amateur
51. Anxious

(1) Depressed (2) Hopeless
(3) Carefree  (4) Doubtful
(5) Nervous

(PRATIYOGITA KIRAN )  AUGUST 2013 @




MODEL SOLVED PAPER : IBPS BANK CLERK ONLINE CWE

52. Finest
(1) Besr {Zj Thinnest
(3) Ordinary (4) Common .
(5) Cheapest
Directions (63 - 57) : Which
of the phrases (1), (2). (3) and (4)
given below each sentence should
replace the phrase printed in bold
in the sentence to make it grammati-
cally correct? If the sentence is cor-
rect as it is given and ‘no correction
is required’, mark (5) as the answer.
B3. I am very keen to learned
aboutl the town's history.
(1) to learns (2) to learn
(3) at learning(4) to have learn
(5) no correction required
For the last three weeks the
shop have been closed.
(1) is being closed
(2) has been closed
(3) are closed
(4) to have closed
(5) no correction required

55. Il you had spoken to the re-

(1) would told you

58. We had to (1)/ hurry Lo the air-
port (2)/ as the flight depar-
tures (3)/ hiom Mumbal at
6:30 pm. (4)/ No Error (5).

If you had (1)/ watered the
plant regularly, (2)/ it would
not (3)/ have dried. (4)/ No Er-
ror (5).

I wonder if (1)/ my colleague
would (2)/ like it go to (3)/ the
conference with m
Error (5).

We cshouild focu
tention at (2)/
accidents (3)
curred. (4)/
My frien
to (2)/
their
No

8l1.

ei(1)/ not allowed

t without (3)/

' consenting. (4)/
5).

ons (63-67) : In each

low, four words printed

1 ¢ given. These are num-

). (2). (8) and (4). One of

s¢ words printed in bold may

@cr be wrongly spelt or inappro-

q
b

ceptionist, she would tell y
where [ was. & te in the context of the sen-
ence. Find out the word that is

N

+

(2) will tell you
(3) would have told yg

56. Many forests a ing the
danger to be slrgyed.
(1) of being to have been

th hat all the students in
he were lazy.
(1 eem to think

(2) seem to be thinking

(3) seem to have thought

(4) seemed to think

(5) no correction required

Directions (58-62) : Read
each sentence to find out whether
there is any grammatical error in it.

The error, if any, will be in one part {
of the sentence. The number of that

part is the answer. If there is 'n
error’, the answer is (5) i.e. 'No Er-
ror'. (Ignore the errors of punctua-
tion, if any).

inappropriate or wrongly spelt, if
any. The number of that word is
your answer. Il all the words printed
in bold are correctly spelt and aﬁ
propriate in the context of th
tence then mark (5) i.e. *
rect’ as your answer.
63.The tape (1)/ recordin
tained (2)/ prove

involvement, ( the
crime. All Co eﬁ .

64. Despite (1)/ e research,
(2)/ there is cure (3)/
for the 4)/ All Cor-
rect (

65. Justb something (1)/

is expansive, (2)/ it is not
n (3)/ superior. (4)/
ect (5).

66., Although (1)/ Goa is a small
&te. (2)/ it is very populer
)/ with tourists. (4)/ All

Correct (5).
7. One does not apprecite (1)/
the importance (2)/ of good

health (3)/ until (4)/ one is
ill. All Correct (5).

Directions (68-72) : iRear-
+ range the fullowing five sentences/
group of sentences (A), (B), (C), (D)
and (E) in the proper sequence to
form a meaningful paragraph: then
answer the questions given below
them.

(A) "My homns are my weap-
ons,” said the deer. “I'm
sharpening them.”

(B) Frightened by the deer's
sharpened horns, he
turmed to the fox instead
and shot iiim dead.

(C) The fox wondered why the
deer was wasting time
sharpening his weapons
when there was no danger
in sight.

(D) A wild deer was rubbing his
horns against a tree. A fox

passin, ked him what
hew
(L)Ju a hunter ap-

dl the scene.
e following should

be IRST sentence after
the rearrangement ?
(20 D
C 4) B
5) A

. Which of the following should
be the FOURTH sentence af-
ter the rearrangement ?
() E (2) D
(8) C (4) B
(5) A
70. Which of the following should
be the FIFTH sentence after
the rearrangement ?
(1) E (2) D
(3) C (4) B
(5) A
71. Whichof the following should
be the SECOND sentence af-
ter the rearrangement ?

ma (2) B
(3) C (4) D
(5) E

72. Which of the following should
be the THIRD sentence after
the rearrangement ?

(HA (2)B
3)C (4)D
(B E
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Directigns (73 — 80) : In the
following passage there are blanks,
each of which has been numbered.
These numbers are printed below:the
passage and against each, five words
are suggested, one of which fits the
blank appropriately. Find out the
appropriate word in each case.

One day, it so happened that
Emperor Akbar (73) on a rock in his
garden. He was in a foul mood that
day and the accident made him so
(74) that he ordered the gardener's
arrest and execution. The next day
when the gardener was (75) what
his last wish would be before he was
hanged, he [(78) an audience with
the emperor. His wish was (77), but
when the man neared the throne he
loudly cleared his throat and spat
at the emperor's feet. The emperor
was taken aback and
{78) to know why he had done such
a thing. The gardener had acted on
Birbal's advice and now Birbal
stepped forward in the man’'s de-
fence. “Your Majesty,” he said,
“there could be no person more loyal
to you than this unfortunate m

Fearing that people would s
hanged him for a trifle, he ha%

out of his way to give you
reason for hanging him.” The “em-
peror, (80) that he was"ah do

greal injustice to an irl t man,
set the man free.
73. (1) fall f3ltered
(3) bruised rip
(5) stumbl
74. (1) imag ve
(2) tro
@d
(4)
(5) uniortunate
75. (1) understanding
(2) question  (3) told
(4) requested (5) asked
76. (1) willing (2) requested
(3) said (4) demand
(5) propose
77. (1) granted  (2) presented
(3) privileged (4) judged
(5) weighed
78. (1) claimed (2)ask
(3) demand  (4) wanting
(5) seemed

e

51
one of these

79. (1) genuine (2) some
(3) prized (4) justly
(5) more
80. (1) understands
(2) realising
(3) foresee
(4) announced
(5) thinks
NUMERICAL ABILITY
Directions (81 - - at
will come in place of stion
mark (?) in the followi stions?
81. 5544 + 6767 - ?
(1) 8860 888
(3) 8866 8868
(5) None se
21
82. 25 x 3" ¥z
[] S
3
(}Nl @13
1 1
) 197 4) 237
(5) None of these
5 2 2
% T8 T
1 2
(1) 15*; (2) 1*2—1
(]
1 2
(3) 25 (4) 22_1
(5) None of these
84. Y1728 =7 -7 Q)
(1) 17 21
(3) 21 (@
(5) None of t
85. 42%o0of 12% f 15000="?
(1) 188 (2) 182
(3) 185 (4) 187
(5) None ol these
86. 12 50 + 62% of 800 = ?
(1 (2)518
(4) 514

4
5 th of 38% of 600 -15.4 =?

(1) 169 (2) 163
(3) 165 (4) 168
(5) None of these

8
88. 60 x I
(1) 34 (2) 36
(3) 38 (4) 33

(5) None of these

89, 72x4.3x0.8="7
(1) 245.34 (2) 247.68
(3) 249.24 (4) 243.56
(5) None of these

90. 7.14+3.29+9.43+8.19="
(1)27.03 (2) 28.05
(3) 25.05 (4) 29.03
(5) None of these
91. 56835- 12683 + 38934 =7
(1) 83085 (2) 83083
(3) 83088 (4) 83086
(5) None of these
92, 4244 + 4+ 4554 +9="7
(1) 1567 (2) 1569
(3) 1563 1568
(5) None e
23. Jgom?
(11 (2) 145
3) l@ (4) 144
R 1)} Ngne of these
94 28 x ? = 5040
%2 (2) 18
) 14 (4) 16
(5) None of these

. (18)% + (14)2- (21)? =2
(1) 78 (2) 75
' (3) 77 (4) 73
_(5) None of these
96. _Whal is the least number that
‘can be added to 5300 to make
it a perfect square?
*{1)25 (2) 33
(3) 29 (4) 36
(5) None of these
46% of a numberis 115. What
is 150% of that number ?
(1) 370 (2) 385
(3) 365 (4) 360
(5) None of these
Meera had a certain amount,i
she gave 15% of that amount
to Anish, 32% to Rubina and

25% to Sana. :::*th of the re-

maining amount is ¥8,400.
How much did she give Anish?
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(1) ¥6,000 (2) ¥ 6,200
(3) ¥ 6,400 (4) 7,000
(5) None of these

99. In how many different ways
can the letters of the word
‘TRENDS' be arranged?
(1) 720 (2) 120
(3) 740 (4) 5040
(5) None of these

100.If the following fractions are
arranged in an ascending or-
der (from left to right), which
of them will be the second
from the left end?

58 5 I X
713" 11" 15" 9
W 13 @ 3
@ @ 5
(5) 17—5

101. Four years ago the ratio be-
tween the ages of Taani and
Ananya was 4 : 5 respectively
The ratio between their prese
ages is 14 :17 respectively.
What will be Anany %’
5 years hence?

(1) 34 years

(2) 33 Q
(3) 38 years | a

(5) None of thes

102. Find the average e follow-
ing set of sc : @
495, 321, 3, 235, 723

(1) 530 ) 550
(3) 5 (4) 520
(5) N these

103.Th age of five numbers is
5 e average of the first
and the second number is 53.
The average of the fourth and
the fifth number is 56. What
is the third number ?
(1) 63 (2) 62
(3) 67 (4) 68
(5) None of these

104. What will be the compound in-
terest accrued on a principal
amount of ¥ 32,000 at the rate
of 11 p.c.p.a after a period of
years?

(1) ¥7429.5 (2) ¥7423.8

(3) T7426.7 (4) ¥7427.2
{5) None of these
105. The side of a square is 2 cms
less than the length of a rect-
angle and the breadth of the
rectangle is 5 cms less than the
side of the square. The area of
the sguare is 324 sq. cms.
What is the area of the rect-
angle?
(1) 250 sq. cms
(2) 260 sq. cms
(3) 254 sq. cms
(4) 258 sq. cms
(5) None of thes
106. A car cover
hours. The a

kms in 4
e speed of a

bike is 50% mgre than the av-
erage speedyof the car. How
muc ce will the bike
cov ours?
d1)B24 Kms  (2) 528 kms
kms (4) 526 kms
(5) None of these

ctions (107 - 109) : The
g questions are based on the
@ information.
A man sold 8500 articles in a
an of four days. He sold 26% ar-
ticles on day one. 25% articles on
day 2 and 32% articles on day 3.
The remaining articles were sold on
day 4.
107.How many articles were 1

on day 2 and day 3 togethier?
(1) 4845 (2) 4844
(3) 4843 (4) 4848

108. How many articles
on day 4 ? P

(5) None of these Q ;
&

(1) 1448 2)
(3) 1452 4
(5) None of t
109. What is the Q&nce between
of articles sold on
and day 3 ?
(2) 515
@ (4) 518
( of these

cored 49 marks in En-
h, 37 marks in Science, 45
rks in Mathematics, 53
marks in Hindi and 55 marks
in Social studies. The maxi-
mum marks a student can
score in each subject is 70. How
much approximate percent-
age did Koel get in this exam?

(1) 53 (2) 79
(3) 68 (4) 73
(5) 88

Directions (111 - 115) : What
approximate value should come in
place of the question mark (?) in the
following questions ? {Note : You
are not expected to calculate the
exact value.)

111.1.992 x 24.998 x 49.987 =7

(1) 2000 (2) 1500
(3) 1000 (4) 2500
(5) 3000
112.20.002 x 39.996 x 0.499 =7
(1) 300 (2) 450
(3) 550 (4) 400
(5) 500
118. J5623 =?
(1) 95 (2) 75
(3) 55 (4) 35
(5) 115
114.2001.14 = x9.899="7
(1) 420 (2) 300
(3) 3300 (4) 390
(5)
115. 356! 9=?
185 (2) 155
05 (4) 255
115

tions (116 - 120) : What

uld come in place of the ques-

jon mark (?) in the following num-
r series?

116.17 9 23 29 37 ?
(1) 46 (2) 49
(3) 47 (4) 48
(5) 45
117.900 899 891 864 800 ?
(1) 895 (2) 685
(3) 665 (4) 675
(5) 655
118.4 32 224 1344 6720 ?
(1) 26885 (2) 26880
(3) 26882 (4) 26888
(5) 26883
119.56 54 58 50 66 ?
(1) 34 (2) 98
(3) 38 (4) 94
(5) 44
120.655 637 622 610 601 ?
(1) 598 (2) 593
(3) 595 (4) 597
(5) 594
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== ANSWERS E== | = EXPLANATIONS B
1. (5) 2. (4) 3.(4)| 4.(1) 1. (5)
52| 6@ 7wl 8@ c B .6 W N b
9.(49 | 10.@) | 11. (2| 12.(5 % ”Il n*
13.(2) | 14.(2 | 15.(1)| 16.(2)
17.(1) | 18.(4)| 19.(2)| 20.(5) B8 8 W FO
21.4) | 22.3) | 23.@] 24.2 Therefore,
25.(5) | 28.(5)| 27.(3)| 28.(1) S T R » s
29. (4) | 80.(1)| 81 (3)] 32.(2) % -1‘|L'
33.(2) | 34.(4)| 35.(5)| 36.(3) s U T D . N B
37.(5) | 38.(5| 39. (2| 40.4)
41.(5) | 42.(1)| 43.(1)] 44.(2)
45.(5) | 46.(3)| 47.(2)] 48.(4) II T R Q E N [T
49.(5) | 50.(3)| 51.(5)[ 52. (1) . I
53.(2) | 54.(2)| 55.3)] 56. (1) Q R T T
57.(4) | 58.(3)| 89.(5)| 60.(3) . (a)
61.(2) | 62.(4)| 63.(3)| 64.(4)
65.(2) | 86.(3)| 67.(1)] 68. 2) z%i;pi;i | 5, F
69.(1) | 70.(4)| 71.(1)| 72.(3) - -5 -5 -5
73.(5) | 74.(4)| 75.(5)| 76.(2) % = D
77.(1) | 78.(5)| 79. (11| 80. (2) R—=>M—=4HI——>C
B1.(4) | 82.(3)| 83.(2)| 84.(5) (1)
8B.(5) | 88.(4)| 87.(5)] 88. 5
80.(2) | 80.(2)| °1.(4)| o2, 4 9 7 2 8 6 3
93.(3) | 84.(1) | 95.(5) +ll _31 _3l 1 +1f +1 _3l
97.(5) | 98.(1)] 99.(1) X
101. (5) [102. (3) [ 103. (5) ) 5 6 4 3 9 7 0
06 lito 4 11k to Bi i 0 3 4 B 6 75
113. @) [114. 5 | L1sWwl11e. @) || O g‘? ,:‘fl“f’ 1“:’:::‘:1‘3
117. (4) |118. (2) |'Ta98(1) [120. (3) R chtam
For the llity of all a plant. Cotton is o ed
Books Magazines of from a tree and w ob
tained from arl’
AZIABAD : (I:J E p R E‘s, 5
Contact : +|l -11 +1 R , i ~1l nl
GUPTA B B RV
NEWSPAPER & 7. (4) Qrdlng to Bhuvan,
h's birthday was on
MAGAZINE 19th, 20th. 21st. 22nd,

rd, 24th, 25th, 26th or 27th

Distributors
72/A Ramte Ram Road
Behind Neel Kamal Furniture
Ghaziabad
Ph. 0120-6483072
9212701044, 9212490602

y-
According to Dhanush,
Animesh's birthday was on
10th, 11th, 12th, 13th, 14th,
15th, 16th, 17th or 18th May.
Common date = 18th May

1

. 3 M

18m

North

West East

Al South
Required distance AB
=AC - BC

=(18-5)m = 13m

4 K>L H

J is not the shortest.

SorK)LoH

Words = FACE.,
CAFE,

(11-18) 0

12,

13.

14.

185.
18.

17.

—)l"
L >z

5>
—>=

| —
ZO—2

(5) Five persons sit to the right
of H.

(2) Except MP, in all others
the first person is second to
the right of the second person.
(2) H sits at the extreme left
hand-corner of the line.

(1) J is third to the right of M.

M F Q B E K

L d b o d

7 % © 9 2 8§
Condition (ii) 1s applicable.
() H EQATFK

[ R T R

# 3 © 3 % 7
Condition (i) is applicable.
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